Construction division. Advice for giving credit to contractors/suppliers.

reg	No. – site bills	-	896-		Date	- site bi ster	lls	6710	1/22
	mpany Name:	M	RMLIP		Site:			GMR.	
Na	me of Contractor	D				. 1	0 101		
Nat	ure of work	1	amerly	Ch	200	na Al	ayar		
Wo	rk done	Fre	Plustin om Date	of _		To	Date		
SI.	Villa/Flat/block no						Amo	·nt	Contractors
No.		.	Qty.	Rate	!	Units	Amo	ші	bill no
1.	SUBA 1660 68	1/1	1128	17	1	SH	1.11	6646	
2.	Skinning El	1.1	71.0	13	1	41		A	
3.	Coanic		311 8	1	1-	771	HF	24/-	
4.	SUBA 681/)	11.0	1-		- 11	115	tr 1	
5.	switing Chi		1178	13	4/-	31+	45	1	
6.	200 St / /to		SHS	<u></u>	(/-	214	130	1	
7.	93544 / UH	-	400		5/	54	6 H	, ,	
8.	TITY LONG	sty	, 93		45	SKE	-13	02/	
9.		+				'			
10.					94. 7) (4				
11.	Te	otal:	^		1		321	794	^
Bill r	equired	□Y	ES YNO.		GST	bill requir	0 -	YES S	NO.
1		equired			urement &	&	 	ed	
		□N	ot required		NAME OF TAXABLE PARTY.	ate sheet:		□ Not en	closed
O/WO no.				PO/W	O date:				
temarks :									
	1		A	wed hu	Deni	- T	1		
ppro	ved by Project Man	ager		veu by	Desig	n Team	Approved by M.D.		M.D.
ate:	~ 68/0 H	NL	Date:				Date	:	
ign:	No.	1	Sign:	1.46	word. =		Sign	•	
-		-	7 days of com	brenna A	VUIK. 2.	This form	-		

Notes: 1. This advice must be sent within 7 days of completing with. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

ESTIMATE SHEET	P					2	-
Company Name:	MRMILLP				Ap	Approved by:	Kamprasad
Project:	Gulmohar Residency	су				Sign:	
Work Description:	4' X 2' flooring tile	4' X 2' flooring tiles and bathroom tiles laying in B-603	g in B-603				
Contractor Name:	Ramesh Chandra Nayak	layak					
Prepared By	Madhan					7	
Date:	07.01.2022						
					3	>	
S No.	пет неас	hem bescribuon	-	Othes			
1	vetrified flooring	SBUA 1660sft (68%)	1128.00 \$	Sft	13.00	14,664	
2		Skirting 21%	348.00 r	rft	13.00	4,524	
		SBUA 1660sft (68%)	1128.00 8	Sft	4.00	4,512	
		Skirting 21%	348.00 r	r#t	4.00	1,392	
ω		(200sft per toilet)	400 \$	Sft	16.00	6,400	
4	Ceramic	(93sft per flat)	93 \$	Sft	14.00	1,302	
						32,794	
			THE PARTY OF THE P				

MEASUREMENT SHEET								
Company Name: MRMLLP	ILLP					Approved by:	Ramprasad	
	Gulmohar Residency					Sign:		
escription:	flooring tiles and bath	4' X 2' flooring tiles and bathroom tiles laying in B-603						
	Ramesh Chandra Nayak							
Prepared By Madhan	ın							
07.01.2022	2022							
			Α	В	C	D	E = AxBxCxD	ъ
S No. Item Head	ead	Item Description	Length	Width	Height	Nos	Quantity	Units
1 B-603		vetrified flooring		2				sft
		SBUA 1660sft (68%)	1128.00	1.00	1.00	1.00	1128	sft
		Skirting 21%	348.00	1.00		1.00		Rft
		(200sft per toilet)	200.00	1.00		2.00		sft
Kitche	Kitchen & utility	(93sft per flat)	93.00	1.00	1.00	1.00		sft
		(s						

Allowance for Consumables

Ramesh Chandra, Orissa.

Date: 07.01.2022

In favor of:

Project / Site:

MRMLLP

Location:

Gulmohar Residency Mallapur

Type of Work:

Tiles work

Towards:

Allowance for Consumables.

S No.		
1	Description Description	Amount
1.	Brief description of work done: Tiles laying work in B-	
	100 Hats at B-block.	Rs. 13,117 /-
	Total Amount = $32,794/$	
	Work done from date 07.12.2021 to 07.01.2022	

Amount in words: Thirteen Thousand One Hundred and Seventeen Rupees Only.

Sign:	
_	

Bill for Equipment Allowance

Ramesh Chandra, Orrisa

Date: 07.01.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles laying

Towards:

Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B-	
	108 flats at B-block.	Rs. 13117 /-
	Total Amount = 32,794/-	
	Work done from date 07.12.2021 to 07.01.2022	

Amount in words: Thirteen Thousand One Hundred And Seventeen Rupees Only.

Sign:	
Sign.	

Bill for Labour Charges

RameshChandra, Orrisa.

Date: 07.01.2022

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles Laying

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in B-	
	108 flats at B-block.	Rs. 6558 /-
	Total Amount = 32,794/-	
	Work done from 07.12.2021 to 07.01.2022	

Amount in words: Six Thousand Five Hundred Fifty Eight Rupees Only.

Sign:	
-------	--